X

MO DY T—CHEEX

2016 &£ 9 A 6 A (X)

~ 2016 %

10 A 14 3 (&)

BEAE RYT6 B L) *x kK * ok ok
FTHUHIBE - PAR X 2 THhOQORDB®D®©® v @ @ ® @ ® J® @ ®
HDCPEBR: (5) 40.0 (&) 40.0 =
HDCPFRE: (8B) 0.0 (%) 0.0
JIE 5z I E A 72 b4 > |GROSS| HDCP | NET JE sz R E S 7 b4 > |GROSS| HDCP | NET [=Riva B E A 7 k4 > |GROSS| HDCP | NET
B B lwvsa= 43 40| 83| 21.6| 61.4 b1t £+ 48 45 93] 21.6| 71.4 1012 | hAAH 45 42 87/ 12.0/ 75.0
EEH <X/ 48 50 98| 36.0| 62.0 52 |7 F\T 52 41 93| 21.6| 71. 4 1022 | F+HhALS 44 43 87| 12.0] 75.0
K] AR e ) 45 46 91| 28.8| 62.2 B3 | F 51 541 105| 33.6| 71.4 10362 |4/ 53 46 99| 24.0/ 75.0
Mg |TES 48 42 90| 26.4| 63.6 b4 |\ESV¥ < 43 43 86| 14.4| 71.6 1044z =T A 53 58| 111} 36.0| 75.0
5 (o) 53 45 98| 33.6| 64.4 5L (2 3oHf 47 44| 91(19.2| 71.8 10545 | =3 LS 50, 42 92| 16.8] 75.2
6L v/ 44 52 96| 31.2| 64.8 564 |4 R 46 45 91/ 19.2| 71.8 10661 ([ESv¥~ 50 42 92| 16.8] 75.2
JAARVANS AV 46 43 89| 24.0| 65.0 5161 |7 Hh4A 46 45 91119.2| 71.8 10761 |35 44| 48 92| 16.8] 75.2
8L |44 44 43 87| 21.6| 65.4 B8GL | FAH A 44 47 91/ 19.2| 71.8 108 |4 53 51| 104| 28.8| 75.2
9k |y OoHFx 48 51 99| 33.6| 65.4 BOfI |v<H 56 47) 103| 31.2| 71.8 10962 |~ %/ 55 49| 104| 28.8| 75.2
102 |k / 40 40 80| 14.4| 65.6 60 |2<F 48 48 96| 24.0| 72.0 Mo |y o4 40 45 85| 9.6| 75.4
ML 424 43 40| 83| 16.8| 66. 2 614z =< 47 42 89] 16.8| 72.2 ML |4 XA 42 43 85| 9.6| 75.4
1262 |41 FE 42 41 83| 16.8| 66. 2 6261 | FLS 51 50| 101| 28.8| 72.2 M2z |1\ = 41 44 85| 9.6| 75.4
1361 |29 44, 37 81/ 14.4| 66.6 63 |HAL 41 41 82| 9.6| 72.4 M3 |5+ 58 511 109| 33.6| 75.4
1460 |54 35 39 74| 7.2] 66.8 644 (A=Y F 45 49 94| 21.6| 72. 4 MAKL | FHHD 45 45 90| 14.4) 75.6
1546 |anyy 54| 44 98| 31.2| 66.8 656 |TJAHAD 38 37 750 2.4/ 72.6 15 |a/8v 43 47 90| 14.4]/ 75.6
166 |7Ro & 52 49| 101| 33.6| 67.4 666 |95 46 41 87 14.4| 72.6 166 |45 5 48 42 90| 14.4) 75.6
1760 (DA A 47 47 94| 26.4| 67.6 676 |HITH 44) 43 87/ 14.4| 72.6 N | AEXE 49 41 90| 14.4]/ 75.6
1862 (/v 44 43 87/ 19.2| 67.8 684G |(aHv 45 42 87 14.4| 72.6 M8 | =42 = 48 54| 102| 26.4| 75.6
196 |av¥~< 42 45 87/ 19.2| 67.8 6L |44 4= 51 48 99] 26.4| 72.6 M9 | hF/ 51 511 102] 26.4| 75.6
A TRV AN 46 46 921 24.0| 68.0 106 | v<E K 41 39 80| 7.2|72.8 12065 | =S LS 43 40 83 1.2/ 75.8
261 |04 38 35 73| 4.8] 68.2 NEL | L5¥< 41 39 80| 7.2|72.8 12161 |WF ¥ 47 36 83| 7.2/ 75.8
2260 |\ 43 42 85| 16.8| 68.2 1260 | < E k- 37 43 80| 7.2|72.8 12260 |4/ 5T 38| 45 83 1.2/ 75.8
261 |V KD 46 51 97| 28.8| 68.2 1360 | ¢ 40 40 80| 7.2|72.8 12361 |42 hAD 44 51 95/ 19.2| 75.8
261 (2945 47 43 90| 21.6| 68.4 JLI R o o 51 41 92| 19.2| 72.8 12441 |+h¥v~ 47 48 95/ 19.2] 75.8
2561 |/ 47 43 90| 21.6| 68.4 1L | R=HF 34 39 73] 0.0] 73.0 12541 |3 AhD 48| 47 95/ 19.2| 75.8
2662 | RY A 56 46| 102| 33.6| 68.4 T66L (RN 441 46 90| 16.8| 73.2 12661 | FHho< 41 47 88/ 12.0/ 76.0
2160 |vw>o 51 51] 102| 33.6| 68.4 T |=YHE 44, 46 90| 16.8] 73.2 12761 <= 44| 44 88| 12.0] 76.0
2861 |3vAHD 45 50 95| 26.4| 68.6 B |FRooam 54| 48| 102| 28.8| 73.2 1282 /N E F 45 43 88/ 12.0/ 76.0
290 | Y F% 43 43 86| 16.8| 69.2 196 |AAN\v 40 43 83| 9.6| 73.4 12961 | hF+A 44| 44 88| 12.0/ 76.0
302 |y 52 46 98| 28.8| 69.2 80fL |4 38 45 83| 9.6|73.4 13062 |4 & 44 44 88/ 12.0/ 76.0
3L | AA= 46 45 91| 21.6| 69.4 814 |2 A% 37 39 76| 2.4 73.6 1816 ZFEH+ 43 45 88| 12.0] 76.0
26 | AU LS 47 42 89]19.2| 69.8 8241 |AARH 52 48| 100| 26.4| 73.6 13261 | v< 4 50 50/ 100| 24.0| 76.0
L |2 F+ 43 46 89] 19.2| 69.8 8L |[FHhiv 48 52| 100| 26.4| 73.6 13361 |74/ 49 511 100| 24.0| 76.0
ML |THF 43 39 821 12.0| 70.0 8441 |4 41 40 81 7.2/ 73.8 13441 |2 hH+ 52 48| 100| 24.0| 76.0
/L | RITY/ 42 40/ 82| 12.0) 70.0 85 |AARH 45 48 93] 19.2| 73.8 13561 |75 4 42 51 93| 16.8| 76.2
364 HTToay 41 41 821 12.0| 70.0 86HL |HHHT 40 34 74/ 0.0/ 74.0 1364 |7 ov < 55 50/ 105| 28.8| 76.2
6L |5 46 41 87| 16.8| 70.2 81 |4 XA 43 43 86| 12.0| 74.0 13761 | WY XA 43 43 86/ 9.6| 76.4
BHL |4/ 9T 46 41 87]16.8| 70.2 8hr | TTHD 49 49 98] 24.0| 74.0 1386 |[H 23N 46 52 98| 21.6| 76.4
9L v H 43 44| 87| 16.8) 70.2 8L |[EUEF 50 48 98] 24.0| 74.0 13961 |AhP< 48 50 98| 21.6| 76.4
4061 | H 49 50 99| 28.8| 70.2 990G |41 <A 44, 47 91 16.8| 74.2 14061 |34 58 52| 110] 33.6| 76.4
AL | LS 47 45 92| 21.6| 70.4 Mz |=F=EH 46 45 91] 16.8| 74.2 14161 |94 H 44, 47 91/ 14.4| 76.6
O6 |4 /9T 52 52| 104| 33.6| 70.4 9261 (ESYXx 46 45 91 16.8| 74.2 14261 |H Ay < 43 48 91/ 14.4]/ 76.6
431 | & 45 40 85| 14.4| 70.6 9BGL |ThAH 46 45 91/ 16.8| 74.2 14361 |ZAFE 47 44 91| 14.4) 76.6
AL |4 XA 43 42 85/ 14.4| 70.6 UL |45 52 51| 103| 28.8| 74.2 14441 [N F A 51 52| 103| 26.4| 76.6
4561 | E R 44 46 90| 19.2] 70.8 954 |FHIL 53 48| 101| 26.4| 74.6 14541 |F£3/\5 46 50 96| 19.2| 76.8
4661 |FH/ 51 51 102| 31.2| 70.8 9% S/ 50 51] 101| 26.4| 74.6 14661 |HA X = 38 39 77 0.0/ 77.0
A6 (A4 42 41 83| 12.0| 71.0 91 | A45'S 42 40 82| 7.2|74.8 14161 | 2R A5 41 36 17/ 0.0 77.0
48461 |y oYX 41 42 83/ 12.0| 71.0 98z | =—=3% 43 51 941 19.2| 74. 8 14861 | LihA 44| 45 891 12.0/ 77.0
496 DAEEXx 48 47 95/ 24.0/ 71.0 YL (7295 46 48 94/ 19.2| 74.8 14961 |2 F + 52 49, 101| 24.0| 77.0
5061 |HHF 44| 44| 88| 16.8| 71.2 10062 |2+ A 50 56| 106| 31.2| 74.8 15061 | LS5 A= 49 52| 101] 24.0| 77.0
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MO DY T—CHEEX

2016 £ 9 H 6 A (K) ~ 2016 & 10 H 14 H (%)

BEAE RYT6 B L) *x kK * ok ok

FTHUHIBE - PAR X 2 THhOQORDB®D®©® {1 @ @ @ ® @ @ @® @ ®

HDCPEBR: (5) 40.0 (&) 40.0 =

HDCPFRE: (8B) 0.0 (%) 0.0
JIE 5z I E A 72 b4 > |GROSS| HDCP | NET JE sz R E S 7 b4 > |GROSS| HDCP | NET [=Riva B E A 7 k4 > |GROSS| HDCP | NET
15142 | X<4& 48 53| 101| 24.0) 77.0 2012 |v<HFx 50 49 991 19.2| 79.8 251461 |+ S 51 53| 104|19.2| 84.8
15261 (D4 50 51| 101 24.0| 77.0 20251 |h =34 52 47 99/ 19.2| 79.8 252451 |\ DO FAH 52 52| 104| 19.2| 84.8
15361 |4 X2 43 39 82| 4.8/ 717.2 20361 | LS 57 54] 111] 31.2| 79.8 25361 |74 58 58| 116| 31.2| 84.8
154651 EHL BT A 47 47 941 16.8| 77.2 204451 (/NS H 55 49| 104| 24.0| 80.0 25461 | B+ H 45 45 90| 4.8 85.2
155451 |24~ 54| 52| 106| 28.8| 77.2 205 |V /A 4] 4 85| 4.8| 80.2 25541 |FR T 53 49| 102| 16.8| 85.2
15642 |7=1) 43 44 87/ 9.6 77.4 20641 (2w 3 49 48 97| 16.8] 80.2 2560 |9 A LS 59 55| 114| 28.8| 85.2
15761 |F/\5 43 44, 87| 9.6| 77.4 207652 |™9 A NS 50 47 97| 16. 8| 80.2 25742 |35 55 59| 114| 28.8| 85.2
1586 3L HhD 49 50 991 21.6| 77.4 208G [T AHNS 49 48 97| 16.8] 80.2 2584 |EFYFE 59 55| 114| 28.8| 85.2
15941 |~ E + 46 46 92/ 14.4/ 77.6 209 | HA 56 53| 109| 28.8| 80.2 25941 | AAH 52 53| 105] 19.2| 85.8
16065 VAL 45 47 92| 14.4) 77.6 21060 |\ h4a 4 57 52| 109| 28.8]| 80.2 26042 |FHE 52 53| 105| 19.2| 85.8
16142 |41/ 5T 57 47| 104| 26.4| 77.6 ARE T ARE VNS 49 41 90| 9.6| 80.4 2610 | B HF 44| 42 86/ 0.0| 86.0
1622 |/ £ 43 42 85 1.2/ 77.8 21260 | =Y A 45 45 90| 9.6| 80.4 26251 |7 Ay 48 55| 103| 16. 8| 86.2
16361 |4 XA 43 42 85| 7.2/ 717.8 20342 |a=>q44 52 50| 102| 21.6| 80.4 26361 |7 X< 54/ 49| 103| 16.8| 86.2
16461 |F32 4 44 41 85 1.2/ 71.8 20461 (=T HD 50 45 95| 14.4| 80.6 26451 | 7S5 % 56 59| 115] 28.8| 86.2
16541 |4 A 56 53| 109| 31.2| 77.8 21561 |4 £ k 47 48 95| 14.4| 80.6 26561 | AHYTD 53 43 96| 9.6| 86.4
16641 |4/ 37 41 78| 0.0] 78.0 21645 |AAE) 47 48 95| 14.4| 80.6 2664 |/ 55 46, 101| 14.4| 86.6
16761 |29 % 46 44 901 12.0| 78.0 21742 |7RYy T 49 46 95| 14.4| 80.6 26161 |74 61 52| 113] 26.4| 86.6
16861 (W YHFx 45 45 90| 12.0| 78.0 21861 |HAX= 51 49| 100{ 19.2| 80.8 268461 | X4 = 48 46 94| 7.2| 86.8
16961 |+ HA 44| 46 901 12.0| 78.0 21961 |v<+Ah 48 50 98] 16.8| 81.2 2695 | hTD 53 53| 106] 19.2| 86.8
170652 |a/8v > 61 57| 118| 40.0| 78.0 22061 |v<w A 48 50 98| 16.8| 81.2 21041 | 63 64 127 40.0| 87.0
1761 | a5y 48 47 95| 16.8| 78.2 2161 (Ao 48 43 91| 9.6| 81.4 2111 | B hv~ 55 54/ 109| 21.6| 87.4
17261 |~ 53 42 95| 16.8| 78.2 22251 | LhA 44, 47 91| 9.6/ 81.4 21261 |45 58 63| 121] 33.6| 87.4
1736 | E F 47 48 95| 16.8| 78.2 22351 | AhDF 52 51] 103| 21.6| 81.4 2734 |28 56 58| 114| 26.4| 87.6
17460 | =€ 55 52| 107| 28.8| 78.2 22461 |3\ 55 60| 115] 33.6| 81.4 21461 |2 LS 43 45 88| 0.0/ 88.0
1756 | %A= 51 49| 100| 21.6| 78.4 2251 | A 57 58| 115] 33.6| 81.4 21561 [ESH 54| 44 98| 9.6| 88.4
176650 |v< 4 57 55| 112| 33.6| 78.4 22660 (R AHD 48 48 96| 14.4| 81.6 21661 |5 F 56 54/ 110| 21.6| 88.4
177161 |9 oY 48 45 93/ 14.4| 78.6 22161 |FHA 65 55| 120| 38.4| 81.6 2T | A4/ 51 52| 103| 14.4| 88.6
1718 [T AHNS 49 44 93| 14.4) 78.6 22861 |2+ N 42 47 89| 7.2|81.8 2861 | RO E 51 48 99| 9.6/ 89.4
1794 | R¥/ 47 46 93/ 14.4| 78.6 2293 | A A NB 48 41 89| 7.2|81.8 21941 |wv< T4 50 53| 103] 12.0| 91.0
180 YR < 46 47 93| 14.4] 78.6 23062 |EY 45 44| 89| 7.2|81.8 2804 |9 S 57 50/ 107| 14.4) 92.6
18161 | &< E b+ 47 46 93/ 14.4| 78.6 2160 [ #HO< 52 49| 101{ 19.2| 81.8 28160 A5 9F 51 59/ 110] 16.8| 93.2
18261 |24 E k 45 41 86| 7.2|78.8 2320 | F > 52 49| 101{19.2) 81.8 28261 | 7oHD 58| 48| 106/ 9.6| 96.4
18361 | HhoA 51 47 98| 19.2| 78.8 233 |wwWA 49 45 94| 12.0] 82.0
184461 |4 45 54| 56| 110 31.2| 78.8 23461 (BN 43 44| 87| 4.8 82.2
18561 |7 H 4 41 38 791 0.0/ 79.0 23561 |vEEFX 46 46 92| 9.6| 82.4
18642 | /N5 42 42 84| 4.8/ 79.2 2366L |AAHD 53 51| 104| 21.6| 82. 4
1875 /N E + 50| 46 96| 16.8| 79.2 237 | A3 S 53 51| 104| 21.6| 82.4
18841 |2 X4 49 47 96| 16.8] 79.2 238hL | A=DD 48 49 97| 14.4| 82.6
1896 |2+ b+ 46| 43| 89| 9.6| 79.4 23961 |AAHD 51 58| 109| 26.4| 82.6
19042 |2/ 42 47 89| 9.6| 79.4 20061 | < E b+ 54) 48| 102| 19.2| 82.8
19162 |[ES/8 Y 48 41 89| 9.6| 79.4 20162 |\ FH 47 48 95/ 12.0] 83.0
19261 | A R= 48 53| 101| 21.6| 79.4 2021 [WILLS 48 47 95/ 12.0] 83.0
19342 |94 43 39 82 2.4/ 79.6 2361 | FHLS 48 45 93| 9.6| 83.4
19461 |34 47 47 94/ 14.4/ 79.6 204061 | B XY 49 441 93| 9.6| 83.4
1954 |vo <L 44 50 94| 14.4) 79.6 24561 |23V 63 54, 117| 33.6] 83.4
19642 |3 LS 50| 44 94/ 14. 4/ 79.6 24641 |FHLS 53 50| 103| 19.2| 83.8
1974 |&# = 59 47, 106| 26.4| 79.6 24161 |9 ANS 49 54| 103| 19.2] 83.8
19861 | HHES 45 42 87 7.2/ 79.8 24861 | <o S 46 48 94] 9.6| 84.4
1994 |v<H X% 51 48 99| 19.2] 79.8 24941 | H X 44 48 92| 7.2| 84.8
20045 |=wA 49 50 99/ 19.2] 79.8 250 =2/ 51 53| 104| 19.2| 84.8




